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Aknotdiagranﬂ 1’571’2?5’6785'9?471610;377»7%03,06709

Ideals for irreducible component#ﬂ)f Xpar

I = (6.14745 x 10*2u*® 4 1.68640 x 10%3u*? + - - + 4.10626 x 10**b + 5.65855 x 1072,
—1.07830 x 10%3u*® — 7.28908 x 10%3u*? 4 -+ + 4.10626 x 10*3a — 8.55134 x 10?3, u** + 3u*® + -+ 4 4u -

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
It = (6.15x 1022u*3 4+ 1.69 x 10%3u*2 4. . . +4.11 X 106 +45.66 X 10?3, —1.08 X
1023443 —-7.29x10%3u%2 4. . . 44.11 X10%3a—8.55 X 10?3, u**43u*?+...+4u+1)

(i) Arc colorings

- ()
)
5
et

0.262600u*® + 1.77511u*2 + - - - + 2.77682u + 2.08251
—0.149709u*3 — 0.410691u*2 + - - - — 1.54325u — 1.37803

as =
ag =
ag —

ag =

0.412309u3 + 2.18580u"? + - - - + 4.32007u + 3.46054

ag = ( 0. 149709u43 —0.410691u*? + - - - — 1.54325u — 1.37803>

u® — u —|—u>
0.313341u*% +1.90111u*2 + - - - 4 3.81262u + 3.26735
—0.334825u*3 — 0.772241u*2 + - - — 1.55972u — 1.27556

1.07273u*3 4 1.65129u*2 4 - - - 4+ 0.120109u — 0.207377
—0.415470u* — 0.355187u42 + .- —2.46813u + 0.118486

0.942379u*3 + 5.64956u*? + - - - — 4.55203u + 0.322394
a7 = \ —0.801791u*® — 2.31053u*2 + - - - — 2.19230u — 1.54713

(ii) Obstruction class = —1

299808041105979204994396 43 848702959623216598779576 42+

iii) Cusp Shapes = — —
(2705)2211834725271707812 BT EBGANNI 44 15057558810354987T L1643 ¥
19553626871935696734949 136875388103549877144643




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs M3 dut1
C2 utt + 11 + -+ 4+ 2050u — 319
c3,Ct u 3t du 1
C4 ut 190 4+ 10u+ 1
6 utt 4 280+ T
cg, C10 w4 —16u—1
Co u a4+ 10u— 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs5 M =19y 4. — 10y + 1
C2 y* — 107y + - - — 1901234y 4 101761
c3,C7 yM 433" . — 10y + 1
€4 y* + 13y - — 10y + 1
Co yM Tyt - — 1078y 4 49
cs, C10 yM =31yt 4 - 122y + 1
C9 yM =3y 4 =50y +1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.363757 + 0.9318011
0.574314 + 0.1526901
1.051760 — 0.3776301

0.93507 + 3.555911

—4.27504 — 5.8014471

0.363757 — 0.9318011
0.574314 — 0.1526901
1.051760 + 0.3776301

0.93507 — 3.555911

—4.27504 4 5.801441

0.918123 + 0.4119391
—2.57013 + 0.484651
—1.186550 + 0.0928281

—2.84407 — 1.622431

—4.14582 4 4.551541

0.918123 — 0.4119391
—2.57013 — 0.484651
—1.186550 — 0.0928281

—2.84407 + 1.622431

—4.14582 — 4.551541

= —0.441228 4+ 0.9152431
0.398119 — 0.2175351
1.34117 + 0.518641

—4.18962 — 9.087601

—8.08222 4 5.032951

—0.441228 — 0.9152431
= 0.398119 4 0.2175351
1.34117 — 0.518641

—4.18962 + 9.087601

—8.08222 — 5.032951

0.822616 + 0.4875061
2.41823 — 5.796261
—0.962457 — 0.0153391

—3.21593 — 2.043611

—52.4053 — 14.79901

0.822616 — 0.4875061
2.41823 + 5.796261
—0.962457 + 0.0153391

—3.21593 + 2.043611

—52.4053 + 14.79901

0.614573 + 0.7158771
= 0.648178 — 0.4622481
0.352533 + 0.6842671

3.04550 — 0.492681

—0.12697 4 2.028651

0.614573 — 0.7158771
= 0.648178 4 0.4622481
= 0.352533 — 0.6842671
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3.04550 + 0.492681

—0.12697 — 2.028651




Solutions to I

V=1(vol + v=1C)

Cusp shape

= 0.925118 + 0.1349581
= 0.268380 + 0.9146691
= —0.612800 + 0.9107771

—4.44447 4 2.347171

—13.36025 — 3.313471

= 0.925118 — 0.1349581
= 0.268380 — 0.9146691
= —0.612800 — 0.9107771

—4.44447 — 2.347171

—13.36025 4 3.313471

= —1.006040 + 0.3585021
= —1.64888 — 1.390731
= —1.72272 — 0.340471

—7.32531 + 1.015981

—16.3773 — 1.59471

= —1.006040 — 0.3585021
= —1.64888 + 1.390731
= —1.72272 4 0.340471

—7.32531 — 1.015981

—16.3773 + 1.59471

u = —0.923394 + 0.5451051
a= 0.892868 — 0.4531121
b= —0.1085090 + 0.03727331

—1.80992 + 2.064511

—8.33506 — 2.585571

u = —0.923394 — 0.5451051
a= 0.892868 + 0.4531121
b= —0.1085090 — 0.03727331

—1.80992 — 2.064511

—8.33506 + 2.585571

u = —0.975696 + 0.4956581
a = —1.58974 — 1.813281
b= —1.045760 + 0.3982421

—2.16678 + 3.718371

—7.18001 — 4.798011

u = —0.975696 — 0.4956581
a = —1.58974 4+ 1.813281
b= —1.045760 — 0.3982421

—2.16678 — 3.718371

—7.18001 + 4.798011

u= 1.036360 + 0.4802571
a = —1.99121 4 1.165631
b= —1.49224 — 0.833321

—6.51425 — 5.380131

—14.5306 + 6.88651

u= 1.036360 — 0.4802571
a=—1.99121 — 1.165631
b= —1.49224 + 0.833321

—6.51425 + 5.380131

—14.5306 — 6.88651




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.509147 + 0.6824211
0.748061 + 0.5782861
0.040117 — 1.0829501

—0.05957 — 3.457081

—5.25205 + 3.266071

—0.509147 — 0.6824211
0.748061 — 0.5782861
0.040117 + 1.0829501

—0.05957 + 3.457081

—5.25205 — 3.266071

1.005360 + 0.6206411
= —0.379272 — 0.1301111
0.152753 — 0.830976.1

1.86298 — 4.635521

—2.63874 + 4.342961

1.005360 — 0.6206411
—0.379272 4 0.1301111
0.152753 + 0.8309761

1.86298 + 4.635521

—2.63874 — 4.342961

—0.630444 + 1.0067901
0.515707 + 0.2519541
1.091770 — 0.1791411

—3.10073 + 4.101261

—10.8949 — 11.02561

—0.630444 — 1.0067901
0.515707 — 0.2519541
1.091770 4- 0.1791411

—3.10073 — 4.101261

—10.8949 4 11.02561

—1.043400 + 0.5937271
—1.020580 + 0.1914051
—0.060111 4 1.3155201

—1.62830 + 8.408731

—8.69535 — 8.267321

—1.043400 — 0.5937271
—1.020580 — 0.1914051
—0.060111 — 1.3155201

—1.62830 — 8.408731

—8.69535 + 8.267321

—0.677683 + 0.2988611
0.440425 + 0.3378401
—0.653219 — 0.3240971

—1.057920 4 0.0695541

—6.35507 + 0.096551

—0.677683 — 0.2988611
= 0.440425 — 0.3378401
= —0.653219 + 0.3240971
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—1.057920 — 0.0695541

—6.35507 — 0.096551




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 1.279390 + 0.0438401
2.10525 — 0.316171
1.39686 — 0.315401

—10.47240 4 6.335271

—14.2462 — 4.43911

1.279390 — 0.0438401
2.10525 + 0.316171
= 1.39686 + 0.315401

—10.47240 — 6.335271

—14.2462 4 4.43911

= —1.141180 + 0.6577041
1.77431 + 1.299311
= 1.42524 — 0.569971

—6.3237 + 14.85541

—10.29546 — 8.5915871

—1.141180 — 0.6577041
1.77431 — 1.299311
1.42524 + 0.569971

—6.3237 — 14.85541

—10.29546 4 8.591581

1.161630 + 0.6434481
1.67963 — 1.045131
1.220440 + 0.4424421

—1.45853 — 9.283211

—6.00000 + 7.802581

1.161630 — 0.6434481
= 1.67963 4 1.045131
= 1.220440 — 0.4424421

—1.45853 4 9.283211

—6.00000 — 7.802581

= —0.354494 + 0.5302501
= 1.064660 — 0.1386421
= 0.127335 + 0.4130061

—0.54354 4 1.798281

—3.49440 — 3.195281

= —0.354494 — 0.5302501
= 1.064660 + 0.1386421
= 0.127335 — 0.4130061

—0.54354 — 1.798281

—3.49440 + 3.195281

u = —1.38103

a= 1382513 —5.51547 —19.3220

b= 1.18122
u = —1.23100 + 0.720057
a= 1.18995+ 0.817941 —5.05123 4 2.615751 0
b= 1.144640 — 0.0607561




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —1.23100 — 0.720051

b:

1.18995 — 0.817941
1.144640 + 0.0607561

—5.05123 — 2.615751

0.206659 + 0.4465711
1.139280 — 0.2413761

b= —1.248780 4 0.5116301

—4.48946 4 1.552961

—10.02584 — 1.509271

0.206659 — 0.4465711
1.139280 + 0.2413761

b= —1.248780 — 0.5116301

—4.48946 — 1.552961

—10.02584 + 1.509271

u = —0.418735
= 0.859759 —1.08485 —8.34540
b= —0.684180




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs ut F3ut o du 1
C2 u + 11u* + -+ 4 2050u — 319
c3, Cr ut F3ut o du 1
C4 u* 190+ 4 10u+ 1
6 ut fut o 28u + T
cs, C10 ut — B 4 —16u—1
9 ut a4+ 10u—1
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ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cs M =19y 4+ 10y + 1
C2 y* — 107y + - - — 1901234y + 101761
cs, Cr y* +33y" - — 10y + 1
€4 y* + 13y - — 10y + 1
C6 y* 7Ty - — 1078y + 49
€8, C10 y" =31yt 4 - 122y + 1
9 y* —3y* . — 50y + 1
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